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306104 Accounting 1B   –   Tutorial five (week 6)

Question 28

Unrealised Profit in Ending Inventory 
	Profit & Loss
	Inventory (end)
	Dr
	

	Balance Sheet
	     Inventory (end) 
	
	Cr


Question 29

Unrealised Profit in Opening Inventory

	P&L Approp.
	Retained Earnings (begin) 
	Dr
	

	Profit & Loss
	     Inventory (begin)
	
	Cr


Explanation re: Ret. Earnings adjustment

We prepare consolidated accounts from scratch at the end of each period using the financial statements prepared for each individual entity. 

=> all of last period's transactions were reflected in last period's individual 

closing Retained Earnings (end) =  this period's opening Retained Earnings

Question 30

Need to flexible in determining accounts to adjust…

Accounts we adjust depend on the level of detail provided in the Consolidation Worksheet.  The accounts we adjust should be the most specific accounts provided.  Eg.  ideally we wish to adjust either Inventory (begin), Inventory (end) or Purchases in the Profit & Loss section, but if we only have a figure for Cost of Goods Sold, then the appropriate adjustments are made to the COGS (but not the individual items). 

Horngren et al

Solutions to the questions from Horngren, C.T., W.T. Harrison, L.S. Bamber, P.J. Best, D.J. Fraser & R. Willet, 2001, Accounting, (3rd edition), have been adapted from the Instructor's Solutions Manual (prepared by Fraser, D, P. Best & R. Willett) for use by University of Melbourne students enrolled in 306-104 Accounting 1B.

Questions

1.
The statement of cash flows reports the reasons for the changes in cash during the period. In the process, it shows the cash impacts of the entity’s operating, investing, and financing activities.

5.
The check figure for the statement of cash flows is the change in cash during the period. This amount is obtained by subtracting the beginning cash balance from the ending cash balance (taken from the comparative balance sheet). The change in cash is compared to the net change in cash shown at the bottom of the statement of cash flows. The two amounts should be equal.

7.
Cash may decrease during a year when profit is high because the entity may be using cash to invest in non-current assets. Cash may increase in a bad year because the entity may be borrowing heavily. The cash flow statement reports these activities to show where cash came from and how it was spent.

	13.  Non-current Assets - net
	

	Balance (begin) – net of depreciation
	193,000

	Depreciation expense for period
	37,000

	Carrying amount of NCA sold (ie net)
	9,000

	NCA acquired
	?

	
	

	Balance (end) – net of depreciation
	176,000


Acquisitions of non-current assets ($X) are $29,000, calculated as follows:

	$193,000 - 37,000 - 9,000 + X
	=
	$176,000

	X
	=
	$176,000 - 193,000 + 37,000 + $9,000

	X
	=
	$29,000



This amount is reported as a cash payment under investing activities.

17.
An increase in another current asset relates to a decrease in cash.  A decrease in another current asset relates to an increase in cash.  An increase in a current liability relates to an increase in cash. A decrease in a current liability relates to a decrease in cash.
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	Boyce Computing Ltd

	Statement of Cash Flows for the year ended 30 September 20X2

	Cash flows from operating activities:
	$
	$

	
Receipts:
	
	

	

Collections from customers
	
	

	


($237,000 + $7,000)
	
	

	


Total cash receipts
	
	  244,000

	
Payments:
	
	

	

To suppliers ($103,000 + $11,000 - $5,000)
	$(109,000)
	

	

To employees ($45,000 + $1,000)
	(46,000)
	

	

For income tax
	(9,000)
	

	

For interest
	      (2,000)
	

	


Total cash payments
	
	 (166,000)

	

Net cash provided by operating activities
	
	78,000

	
	
	

	Cash flows from investing activities:
	
	

	
Acquisition of  equipment
	$(101,000)
	

	
Proceeds from sale of land
	     14,000
	

	

Net cash used in investing activities
	
	(87,000)

	
	
	

	Cash flows from financing activities:
	
	

	
Proceeds from issue of ordinary shares
	$   35,000
	

	
Payment of long-term bill payable
	(20,000)
	

	
Payment of dividends
	    (10,000)
	

	
     Net cash provided by financing activities
	
	      5,000

	Net (decrease) in cash
	
	$   (4,000)

	
	
	

	Non-cash financing and investing activities:
	
	

	
Acquisition of equipment by issuing 
	
	

	

long-term bill payable
	
	$  15,000


Req. 2

Evaluation:


Boyce’s cash flows look strong.  Operations are the main source of cash.  The company is investing in new equipment without much borrowing.  It was able to issue shares and pay off a long-term bill payable.  All of these signs are favourable.  The $4,000 decrease in cash is probably of minor importance.
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Req. 1

	Multi Food Ltd

	Statement of Cash Flows for the year ended 31 December 20X5

	Cash flows from operating activities:
	$
	$

	
Cash receipts:
	
	

	

Collections from customers ($213,000- 1,700)
	211,300
	

	

Receipts of interest ($8,600 - 1,200)
	        7,400
	

	


Total cash receipts
	
	218,700

	
Cash payments:
	
	

	

To suppliers:
	
	

	


Inventory ($70,600 - $3,600 - $2,600)
	   (64,400)
	

	


Operating expenses ($10,500 +600 +2,300)
	(13,400)
	

	

To employees ($27,800 + 3,500)
	(31,300)
	

	

For interest ($11,600 + 500)
	(12,100)
	

	

For income tax ($29,100 - 1,200)
	     (27,900)
	

	


Total cash payments
	
	  (149,100)

	

Net cash provided by operating activities
	
	69,600

	
	
	

	Cash flows from investing activities:
	
	

	
Acquisition of  land
	(29,000)
	

	
Acquisition of equipment
	
	

	

($49,400 – deprec. Exp. 4,000 = $45,400;
	
	

	

$53,500 - $45,400)
	       (8,100)
	

	

Net cash used in investing activities
	
	(37,100)

	
	
	

	Cash flows from financing activities:
	
	

	
Payment of dividends ($2,700 + 68,000 - 41,500)
	 (29,200)
	

	
Payment of bill payable
	(25,000)
	

	
Issue of ordinary shares
	      23,600
	

	

Net cash used in financing activities
	
	    (30,600)

	Net increase in cash
	
	$     1,900

	Cash balance, 31 December 20X4
	
	       5,300

	Cash balance, 31 December 20X5
	
	$     7,200


Req. 2
Students will be able to understand the meaning of cash flows from the three basic categories of business activities.  This knowledge will aid their analysis of investments.  For example, students should know that a net cash inflow from operating activities conveys a more positive signal about a company than a net cash outflow from operations.
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	Multi Food Ltd

	Statement of Cash Flows for the year ended 31 December 20X5

	Cash flows from operating activities:
	$
	$

	
Net profit
	
	 68,000

	
Add (subtract) items that affect net profit
	
	

	
and cash flow differently:
	
	

	

Depreciation
	 4,000
	

	

Increase in accounts receivable
	(1,700)*
	

	

Increase in interest receivable
	(1,200)*
	

	

Decrease in inventories
	3,600 *
	

	

Increase in prepaid expenses
	(600)*
	

	

Increase in accounts payable
	2,600 **
	

	

Decrease in interest payable
	(500)**
	

	

Decrease in salary payable
	(3,500) **
	

	

Decrease in other accrued liabilities
	(2,300)**
	

	

Increase in income tax payable
	     1,200 **
	        1,600

	


Net cash provided by operating activities
	
	69,600

	
	
	

	Cash flows from investing activities:
	
	

	
Acquisition of  land
	(25,100)
	

	
Acquisition of equipment ($49,400 – deprec.
	
	

	
Exp. of 4,000 = $45,400; $53,500 - $45,400)
	    (8,100)
	

	


Net cash used in investing activities
	
	(37,100)

	
	
	

	Cash flows from financing activities:
	
	

	
Payment of dividends ($2,700 + $68,000 - $41,500)
	(29,000)
	

	
Payment of bill payable
	(25,000)
	

	
Issue of ordinary shares
	     23,600
	

	


Net cash used in financing activities
	
	     (30,600)

	Net increase in cash
	
	   $   1,900


* These amounts can be combined into a single total and reported as


Decrease in current assets other than cash. 
    100

**  These amounts can be combined into a single total and reported as


Decrease in current liabilities
           (2,500)

Req. 2

See P18-3
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Req. 1 (direct method)

	Hartford Hotel Ltd

	Statement of Cash Flows for the year ended 30 June 20X7

	Cash flows from operating activities:
	$
	$

	
Receipts:
	
	

	

Collections from customers ($237,300 + $2,400)
	239,700
	

	
	
	

	

Interest received ($10,600 + $700)
	     11,300
	

	


Total cash receipts
	
	 251,000

	
Payments:
	
	

	

To suppliers:
	
	

	

Inventory ($82,800 + $8,400 - $2,100)
	 (89,100)
	

	

Operating expenses ($42,000 + $900 + $1,500)
	(44,400)
	

	

To employees ($38,800 + $1,700)
	(40,500)
	

	

For income tax ($9,900 + $700)
	(10,600)
	

	

For interest ($6,100 - $800)
	      (5,300)
	

	


Total cash payments
	
	   (189,900)

	

Net cash provided by operating activities
	
	61,100

	
	
	

	Cash flows from investing activities:
	
	

	
Sale of land
	46,900
	

	
Purchase of long-term investment
	     (4,900)
	

	

Net cash provided by investing activities
	
	42,000

	
	
	

	Cash flows from financing activities:
	
	

	
Payment of long-term bill payable
	(61,000)
	

	
Payment of cash dividends
	(38,100)
	

	
Issue of ordinary shares
	      3,900
	

	

Net cash used in financing activities
	
	     (95,200)

	Net increase in cash
	
	   $   7,900


	Non-cash financing and investing activities:
	

	Acquisition of equipment by issue of
	

	long-term bill payable
	$14,300

	Payment of short-term bill payable by
	

	issue of ordinary shares
	           4,700

	
Total non-cash financing and investing activities
	       $19,000
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Req. 2

	Hartford Hotel Ltd

	Reconciliation of Net Cash from Operating Activities to Net Profit

	Cash flows from operating activities:
	
	

	
Net profit
	
	$ 56,200

	
Add (subtract) items that affect net profit
	
	

	
and cash flow differently:
	
	

	

Depreciation
	$   5,400
	

	

Loss on sale of land
	6,700
	

	

Decrease in accounts receivable
	2,400 *
	

	

Decrease in interest receivable
	700 *
	

	

Increase in inventories
	(8,400)*
	

	

Increase in prepaid expenses
	(900)*
	

	

Increase in accounts payable
	2,100 **
	

	

Decrease in income tax payable
	(700)**
	

	

Decrease in accrued liabilities
	(1,500)**
	

	

Increase in interest payable
	800 **
	

	

Decrease in salary payable
	     (1,700)**
	        4,900

	
Net cash provided by operating activities
	
	61,100


*  These amounts can be combined into a single total and reported as


Increase in current assets other than cash.........(6,200)

** These amounts can be combined into a single total and reported as


Decrease in current liabilities............................(1,000)
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